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NAME

STUDENT ID #

RECITATION INSTRUCTOR

RECITATION TIME

LECTURER

INSTRUCTIONS

1.

7.

There are 8 different test pages (including this cover page). Make sure you have a
complete test.

Fill in the above items in print. ID # is your 9 digit ID (probably your social security
number). Also write your name at the top of pages 2-8.

Do any necessary work for each problem on the space provided or on the back of the
pages of this test booklet. Circle your answers in this test booklet.

No books, notes or calculators may be used on this exam.
Each problem is worth 8 points. The maximum possible score is 200 points.

Using a #2 pencil, fill in each of the following items on your answer sheet:

(a) On the top left side, write your name (last name, first name), and fill in the little
circles.

(b) On the bottom left side, under SECTION, write in your division and section
number and fill in the little circles. (For example, for division 9 section 1, write
0901. For example, for division 38 section 2, write 3802).

(c) On the bottom, under STUDENT IDENTIFICATION NUMBER, write in your
9 digit student ID number, and fill in the little circles.

(d) Using a #2 pencil, put your answers to questions 1-25 on your answer sheet by
filling in the circle of the letter of your response. Double check that you have filled
in the circles you intended. If more than one circle is filled in for any question,
your response will be considered incorrect. Use a #2 pencil.

After you have finished the exam, hand in your answer sheet and your test booklet to
your recitation instructor.
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. T
1. lim 22 cos — =

z—0 x

A
B
C.
D
E

. T

-1

. o0

. does not exist

2. Starting with the graph of y = €%, the equation of the graph that results by shifting

2 units to the right and then reflecting about the y—axis is A.

MY QW

y = ea:—2
y = _e—:z:+2
y=e z—2
y= ea:+2
y= ea;—2

3. Find the value of the constant ¢ for which the following function g is continuous on

(—00, 00).

22— ifzx<4
g(z) = .
cx+20 ifx>4

. 2 _ .
4 m sin(3 4+ h)* — sin9 _
h—0 h

5o oW

B o aw p

for no value of ¢

0

00
6sin9
6cos9

does not exist
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5. The equation z3 + 1 = z has exactly one root in the interval (—3,2). This root is in
the interval :

(—3,-2)

(—=2,-1)

(-1,0)

(0,1)

(1,2)

B Y 0w e

6. lim tan~!(z® — z?) =
T—»00

>
ol 3

@ o aw
|
8

dy
. = 2(x2 th —_— =
7. Ity = tan®(a%), then dz A. 2xsec?(z?)

B. 4z tan(z?) sec?(z?)
C. 4z tan?(z?) sec?(z?)
D. 4z tan(z?)sec(z?)

E. 2tan?(z2)sec(z?)

8. Ty = tan—1(2?), then Y —
. If y = tan (x),tenzi;g— o
AL ——
1+ 24
6zt — 2
(14 z)?

(1 + z4)2

2 — 6zt

(1 + z4)2
8x?

(1 +z%)?
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1 T
9. Find the slope of the tangent line to the curve cos zsiny = —— at the point ( , —).
' P & W) pomt 3> 2

Q w
L s

L <

10. Find an equation of the tangent line to the curve y = 4% at the point where z = 2.
A y—-8= hll—f;-(a:—2)
B. y—2=28(z-16)
C. y—16 = 16e*(z — 2)
D. y—~2=(ln4)(z — 16)
E. y—16 =16(ln4)(z—2)

11. A ladder 10 ft long is leaning against a wall. The bottom of the ladder is slipping
away from the wall causing the acute angle between the ladder and the ground to
decrease at the rate of 2 rads/sec. How fast is the bottom of the ladder moving when
the acute angle between the ladder and the ground is % rads?

10 ft/sec
5 ft/sec
10+/3 ft/sec

10
— ft/sec

V3
2 ft/sec

M Y QW
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12. If f(z) = (sin"'x)?, then f'(z) = A. —2(sinz) 3cosz
B. 2sin"'zcos 1z
C. _9 sin"!z
vV1—z2
D 2sin" !z
S V1—22
2sin" 'z
14 z2

13. The minimum and maximum values of the function f(z) = 3 — |z — 2| on the interval

[1,4] are
A. 1and 3

B. 0Oand 1
C. 2and 3
D. 2 and 4
E. 0 and 2

14. The derivative of the function f is given by f/(z) = (x — 1)z(z + 1). The function f
has a local minimum at z =
A0

B.—1

V3
1 1
C. —— and —
V3 V3
D. ~1land1
E. 0,—-1,and 1

15. The graph of the function f(z) = 3z° — 20z* + 1000 has an inflection point when = =

A. 0
B. 0 and 13—6

0 and 4

4

16
5‘ and 4

® 9 Q
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16. zl—i>%l+ lln_n((il_—tx%: A0
B. 1
C. e
D. —
E. ©

17. Find the area of the largest rectangle with vertices at the origin, a point on the positive
z—axis, a point on the positive y—axis and a point on the line 2z + y = 100.

A. 500

1750
1000
5000
1250

SHECRNORS

18. Find the height of a right circular cylinder of largest volume that can be inscribed in
a sphere of radius R.

R
A —
V2
2R
B. =~
V3
R
C. 3
D. V3R

L
oy
=y
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19. If f'(z) = 3/ — 715- and f(4) = 3, then f(z) =

m 00w

223/2 -2,/ —9
—2yT -1
2232+ \/x— 15
22%/2 — 2,/ +3
23/ — \Jzx —11
A ed—¢f
B. -3
C. 3
3 3
D-a—a
E. e -¢8
32v/2 — 3v/3
A.
o48v2
32v/2 - 33
B.
C16v2
38
Cc. -=
9
38
D. &=
3
38
E. —
9

22. A year ago there were 4 grams of a certain radioactive substance. Today there are 3

grams. The half-life of the substance is

A.

"In4—In3

 3Iln4

In2

In3—Ind 7o

In2
years

In2
3In4

In2
4In3

years

years

In2

years
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sinz

d 2
-t _ s 2
23. - eV dt = A e Tcosz
0 B. e—sinz:z:
2
C. —2ze % cosz
.2 .
D. e~ %ging
2
E. —2ze™ %

24. Find the vertex, focus and directrix of the parabola (z — 4)? = 8(y + 3).
A. vertex (4,—1), focus (4, —3), directrix y = —5
B. vertex (4, —3), focus (4, —1), directrix y = —5
C. vertex (—4, 3), focus (—4,5), directrix y = 1
D. vertex (—4,1), focus (—4, 3), directrix y = —1
E. vertex (4,—3), focus (4, —5), directrix y = —1

(-2 (z+37 _
4 3

A. vertices (—3,0), (—3,5); foci (-3,4), (-3,-1)

B. vertices (—3,4), (-3,0); foci (-3,5), (—3,-1)

C. vertices (—3,4), (—3,0); foci (3,24 v7), (=3,2 - V7)

D. vertices (—1,2), (=5,2); foci (=3 — v/7,2), (-3 +7,2)

E. vertices (—1,2), (-5, 2); foci (0,2), (—6,2)

1.

25. Find the vertices and foci of the hyperbola



